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Consider the following diagram for a chemical system containing three substances lo s Consider the following graph for the reaction:

ret the following graphs in terms of the changes which must have been imposed on the equilibrium. q
b inier? 4 represented by A, B and C;

The equilibrium is: PCls(g) + 92.5 kJ == PCla(g) + Clxa). energy + N204(g) 2 ZNOZ(g)

a) & b)
M_ 1.0
(PCis) [PCls)
y Coricentration A
H 0.
{PCl3) . . {PCl3) (mol/L) 80
/ ~B
iCi2] [Clel i
\ : 0.60
- - ¢ ‘ Concentration
Time Time : : : : { (mol /L)
o 40 6o 80 1o 1 040
7 The equilibrium is: H,O(g) + ClO(g) =2 HOCH(g) +70kJ. 2 . i 10. 12,0
@ , Time
(min})
2 %3 ®) 0.20
{HOCI) (HoCl a) What feature of the graph indicates that the System reaches equilibrium? (1 mark)
————— 0
[Cl20]
o [Clz0} Time |
[H20} . . .
[H20] a) What is the stress imposed at time t; ? a mk
Time Time
b) Write a balanced equation for the equilibrium reaction, (2 marks)
o b) What is the stress imposed at time ty ? a
Consider the graph below representing the following equilibrjum: m
L :
¥
CH;CHQCHZCHJ(E) pd CH;CH(CH;)Z(S,)
fn-butane isobutane
Data for the graph was obtained from various equilibrium mixtures. ¢) Calculate K., at equilibrium, (2 marks) ¢) Calculate K., for the equilibrum between t, and ts. @ mark9>
[n-butane]
(molfL)
- 0 1.0 2.0 3.0 4.0
[isobutane]
(molfL)
(2 marks)

Calculate the value of K,, for the equilibrium.



